URSAN POMPA LTD. STI.

Type series booklet
1777.5/8-10 G2

Multitec / Multitec-RO

High-Pressure Pumps in Ring-Section Design

Automation products available:

* PumpExpert
* PumpDrive
* Hyamaster

Applications

e General water supply e Distillate

e Pressure boosting e Industry

e Drinking water supply o Filter systems

e [rrigation e Solvents

e Heating e Fire-fighting systems

e Boiler feed water
o Warm water

e Washing systems
e Reverse osmosis

e Hot water e Lubricants
e Circulation e Fuels
e Condensate ® Process

e Snow-making systems

Operating data

e Power plants

Pump sizes DN 32 to 150
Capacities Q upto 850 m3/h, 236 I/s
Heads H  upto 630 m, (800 m)

-10 °C to +200 °C

Operating temperature  t
up to 63 bar 1), (80 bar)

Operating pressures p2

Standard flanges DIN
Suction nozzle PN 16 (JL1040) and

PN 25 (GP240GH+N, 1.4408, 1.4517)

PN 40 (JL1040) and

PN 63 (GP240GH+N, 1.4408, 1.4517)

Drilled to PN 100 (1.4317, 1.4517)

ASME

Class 125 (JL1040) and

Class 300 (GP240GH+N, 1.4408,

1.4517)

Class 250 (JL1040) and

Class 600 (GP240GH+N, 1.4408,

1.4317, 1.4517)

1) The total of inlet pressure and head at zero flow must not exceed the specified value

Discharge nozzle

Standard flanges
Suction nozzle

Discharge nozzle

Design

Multistage centrifugal pump in ring-section design, long-coupled
(baseplate-mounted) or close-coupled for horizontal installation,
close-coupled or with cardan shaft for vertical installation.

Axial or radial suction nozzle. Radial suction and discharge casings:
Nozzles can be turned in steps of 90°.

Flanges to EN and ANSI (holes and flange facing).

Closed radial impellers. Size 50 and above: suction impeller in the
first stage for improving the NPSH value.

Bearings/Lubrication
Discharge side: rolling element bearings

Suction side: plain or rolling element bearings, depending
on installation type
Lubrication: Rolling element bearings grease lubricated,

oil lubrication possible.
Plain bearings are product lubricated.

Shaft seal

Standardised mechanical seal, uncooled or cooled, single or
double.

Cartridge mechanical seals possible.

Uncooled gland packing, with or without barrier fluid.

Designation

MTC RO A 50/8E - 3.1 31.80 (SP)
MTC A 32/8E-2.1 12.65 (SP)

Pump series 4_’_

Installation type
DN discharge nozzle
Number of stages/Impeller
combination
Hydraulics
Material variant
Shaft seal code
Code for special variants (optional)

Materials
Casing:

Grey cast iron, steel, stainless steel,
duplex stainless steel

Hydraulic components: Grey cast iron, bronze, stainless steel,
duplex stainless steel

Drive

Electric motor 50 and 60 Hz;
Diesel engine or turbine possible.

Certification

1ISO 9001
ISO 14001
ISO 18001

ksB O,


KULLANICI
Text Box
URSAN POMPA LTD. STI.



KSB b‘. H

Multitec / Multitec-RO

Selection charts

n =2900 rpm
10 US.gpm20 30 40 50 100 200 300 400 500 1000 2000 3000 4000
800 10 IM.gpm20 30 40 50 100 200 300 400 500 1000 2000 3000
I
| | P ——
i
\\:‘\ ™S\ 2000
500 ~~\ \\ N \ \ \ ::351 ;:: 150
N AN N\ \125 9.1 \\\12.P\
N \ \ N
400 N N\ N\ N 150 N\,
) Y [\ 65 6.1 N ' ENEA
3
300 ~_ o 1000
N 50 4.1 100 8.1 2N N\
A [ e IR NG A
200 221 | |\ | 50 31 : 125 ¥ N\ I\
10.2 \ N\
NN
\‘ \\ L 500
AN N NN 400
100 g \‘ \ \'
N \‘ L 300
\\
N
\\ N\ 200
50 L \
ft
40
N
30 \ 100
(i
20 -
2 3 1 5 Q[m%¥h] 10 20 30 40 50 100 200 300 400500 1000
1 I/s 2 3 4 5 10 20 30 40 50 100 200
KE1777.ES.S.452/2
n = 3500 rpm
20 ? 4 S USgem 100 20, SQor Ap0 BO0% il L 200 9000, SO00SOROD:
. 2 0 W0 BT vgpm 100 20 80 400 S0 i oP0 0o =00 Adesaen
] — ]
— — — K\\ \h‘-{ H“"\- 2%
= —— h ™ 3 \ \25—91‘2510'1 ASUAN
: 150-11.2
) N 656110071 150-12.2
100-8.1 \ l
300 LS . 1000
5031 ||S50-4.1| |6551 N \
32-2.1 \\\
- N AR}
\ ~ 125-9.2¢
V25102
500
™
S \ 400
@ - AN
- 300
SN
N A \
H o
im) ~
\\ [
50
| ft
40
30 100
4 5 Q[m?h] 10 20 30 40 50 100 200 300 400 500 1000 1400
1 s 2 3 4 s 10 20 30 40 50 T " 200 300

Multitetec C 3500/1



KSB b‘ Multitec / Multitec-RO

n = 1450 rpm
.5 ‘US‘.g_pm‘l.O .. .,20 30 4050 100 200 300 400500 1000 2000
400 4 5 IMgpmi0 20 30 40 50 100 200 300 400500 1000
300 ] 1000
\\‘\
—— -
200 — T~ 391c 1500
™ N 125 9.1 ~N_ \ 12.1 ]
N 125\ N 500
~ N\ N 1N NN
\\\ \\\‘\ N, 100 7“1 \\ N N |\ [ 400
100 \; \ \\ \ \ 150
A 65 6.1 N\ 11.9750 ([} 300
AN J 12.2
"L X1 125 9.2
N 65 5.1 \
125 K L 200
50 50 4.1 100 8.1 172 [N [N
50 3.1 NN
40 : N N
1A N
30 32 2.1 N N \ 100
NN
-
20 \‘
N N 50
m] N N
iy L 40
~
10
30
ft
6 20
Q[m3h] 2 3 4 5 10 20 30 40 50 100 200 300 400 500
0.3 0.4 0.5 1 I/s 2 3 4 5 10 20 30 40 50 100
KE1777.ES.S.454/1
n=1750 rpm
5 ‘US‘.g‘pm‘lO ... .20 . 30 4050 = 100 = 200 300 400500 = 1000 = = 2000
500 4 5 IMgpm10 20 30 4050 100 =~ 200 300 400500 1000 = 2000
[
|
400 ! —r—
150
300 ™~ ™ :“‘ 11.1 >s<15osv-1000
SN 125\91 I NANEY
I ) o~ %25\ N[N |
200 - TN N \\\\ Y101 N
~ N N \ \
NN 100 7.1 \ | 1500 N
N | 65 6.1 1\ "2 g |59
\‘ 125 9.2 \I | 12:2|] 200
100 N 65 5.1 125 I
AN 10.2 il 300
N 100 8.1 [
50 4.1 JI
50 3.1 \\ \[ 200
50 ™ N
32 21 N N \
40 N \
30. 100
-\ \\
\
20 N NN
= 50
f#‘] N
\\ 40
10 ft
9 30
Q[m®h] 2 3 1 5 10 20 30 40 50 100 200 300 400500 600
0.3 0.4 0.5 1 I/s 2 3 4 5 10 20 30 40 50

100
KE1777.ES.S.464/1



KSB b‘ Multitec / Multitec-RO

Operating ranges depending on installation type

800

630

i
|
el
[6—¢]

400 — |

Installation type A, B, C, D, V
250

8
i -
I

Installation type A, B, C, D, V

Installation type A, B, C, D, E, F, V

DN 65 DN 150
Heads given for n=2900 1/min and n = 3500 1/min



ksB L.

Multitec / Multitec-RO

Technical Description

Installation type

Technical description

Installation type A?d - Horizontal design, baseplate mounted, Drive Electric motor, Diesel engine, turbine
- One shaft seal only -
- 1 Rolling element bearing at drive end Axial thrust By balance drum 1)
- 1 plain bearing at suction end balancing
g - Axial suction nozzle
(block flange up to pump size 50), Qmax 2 840 m3/h
- - Drive on discharge side
Hmax 630 m (800 m)
_____ For the entire Q/H range
Multitec-RO: installation type A only P2 max 63 bar (80 bar)
Same as installation type A, but with radial | tjax -10 up to +200 °C
suction nozzle
Shaft seal Uncooled gland packing
Uncooled or cooled mechanical seal, single or
double,
cartridge-type mechanical seals
Material Grey cast iron, bronze, cast steel, stainless
steel and duplex stainless steel (MTC RO)
- Horizontal design, baseplate mounted Drive Electric motor, Diesel engine, turbine
- two shaft seals -
- rolling element bearings on drive and Axial thrust By balance drum 1)
suction side balancing
- drive on discharge side
Qmax 2 840 m3/h
For the entire Q/H range
Hmax 630 m (800 m)
P2 max 63 bar (80 bar)
Same as installation type C, but drive on tmax -10to +200 °C
suction side
u_,.ju [Sinshae Shaft seal Uncooled gland packing
9l i Uncooled or cooled mechanical seal, single or
N - double,
\ cartridge-type mechanical seals
L/ N Material Grey cast iron, bronze, cast steel, cast stainless
steel
- Horizontal close-coupled pump, E,F
- Common bearing for pump and motor,
- Rigid coupling, . .
- Radial suction nozzle Drive Standardised
- Plain bearing at suction end motor
up to DN 65 Axial thrust By balance drum
balancing
Qmax 2 100 m3/h
Hmax 250 m
Same as installation type E, but with axial P2 max 40 bar
suction nozzle
tmax -10to +140 °C
up to DN 65 Uncooled gland packing
Shaft seal Uncooled mechanical seal, single
Material Grey cast iron, bronze
Vertical close-coupled pump Standardised motor - Standardised
Drive Fixed beanng at drive motor
Q/H range?: max. 200 kW
Motor: in lantern:
Fixed bearing DN 32 DN 100
DN 50 DN 125
DN 65 DN 150
Axial thrust by balance drum by balance drum 1)
balancing
] Qmax 2 400 m3/h
Hmax 630 m
N P2 max 63 bar
= T tmax -10to +140 °C
Shaft seal Uncooled packing;
uncooled mechanical seal single
Material Grey cast iron, bronze, cast steel, cast stainless

steel

For small number of stages without balance drum: Axial thrust is fully absorbed by the axial bearings.

N.B.: The values given for Q apply to 50 Hz; for 60 Hz values please refer to the specific performance curves.

Anti-clockwise drive rotation when viewed from the motor end.

1)
2)
3) Clockwise drive rotation when viewed from the motor end.
4)
5)

On Multitec 32 - 50 - 65 the motor bearings on the coupling side are fixed bearings.




ksB L.

Multitec / Multitec-RO

Pressure and temperature limits

Material JL1040 (GJL-250)

Material GP240GH+N (1.0619+N)

‘ ASME Class 600
60 60 T~ EN1092-1, PN 63 —
(DIN 2546, PN 63)
EN 1092-2, PN 40
(DIN 2535, PN 40)
40 | 40
ASME Class EN 1092-1, PN 25
bar 250 bar | (DIN 2544, PN 25) ASME Class 300
———— e —— T
EN 1092-2, PN 16
20— (DIN 2533, PN 16) 20
————— e ——— = —
ASME Class 125 — T —— _]
0 0
-10 0 50 tec 100 140 150 200 -10 0 50 t°C 100 150 200
Material 1.4408 Material 1.4317, 1.4517
100
60 EN 1092-1, PN 100 / ASME Class 600
iy T ASME Class 600 80 1
\ Werkstoff 1.4317; 1.4517
EN 1092-1, PN 63 - T
(DIN 2546, PN 63) 60
40 ——
P 40
bar ASME Class 300
I e e EN 1092-1, PN 25 / ASME Class 300
20 |
EN 1092-1, PN 25 20
(DIN 2544, PN 25) Werkstoff 1.4517
0
0 T
-10 0 50 t°C 100 150 200 -10 0 10 20 30 40



KSB b‘ Multitec / Multitec-RO

Mechanical seal code 2
Mechanical seal 2

MULTITEC :
Cooled
Uncooled mechanical seal mechanical
seal
. t o
Mechanical seals Supplier Static seals up tSC1 00 1“2"0t80 1u4% ?C up to 200 °C 3
Unbalanced bellows-type seal _ _
RMG13 (U3BEGG) 1) EPDM 61
Balanced mechanical seal
H12N (AQ1EGG) EPDM 62 i
Balanced mechanical seal
H17GN (Q12Q1VGG) 4 FPM 63 - -
Balanced mechanical seal
H7N (Q1AEGG) EPDM - 64
Balanced mechanical seal
H17GN (Q12BE3GG) 4 EPDM 67 - -
Unbalanced bellows-type seal _ _
MG13, MG1S4 (U3U3VGG) 5 FPM 68
Balanced mechanical seal
H177GN (U22U22VGG) 5 Burgmann | FPM 68 -
Balanced mechanical seal
H7N (U2U2VGG) 9 FPM 68 -
Balanced mechanical seal
HRN (AQ1EMG) EPDM 69 -
Balanced mechanical seal
H7N (Q1AEGG) EPDM 81 i
Balanced mechanical seal
HJ977GN (Q12Q1VGG) FPM 53 - -
Balanced mechanical seal
H12N (AQ1VGG) 4 FPM 55 - i
Balanced mechanical seal
HRN (BQ1EMG) EPDM 59 - -
Balanced mechanical seal
57B (AQ1EGG) EPDM 42 i
Balanced mechanical seal John G EPM 43 _ _
57B (Q1Q1VGG) ohn Lrane
Balanced mechanical seal
57B (AQ1VGG) FPM 45 - -
Single cartridge mechanical seal _
Cartex SN6 (AQ1EMG) EPDM 92
Single cartridge mechanical seal _ _
Cartex SN6 (Q1Q1VMG) Burgmann | FPM 93
Single cartridge mechanical seal _ _
Cartex SN6 (AQ1VMG) FPM 95
Mechanical seal with quench supply _
H7N (Q1AEGG) EPDM &
Double mechanical seal in tandem
arrangement EPDM 72 -
H7N (Q1AEGG) Burgmann
Double mechanical seal in back-to-
back arrangement EPDM 73 -
H7N (Q1AEGG)

1) Sizes 32 and 50 only

Other seal designs on request

For installation types A, B, C and D only; air-cooled up to size 100, other sizes water-cooled
H7N for size 150

2)
3)
4)
5) MG13 for sizes 32 and 50, MG 1S4 for size 65, H177GN for sizes 100 and 125, H7N for size 150



ksB L.

Multitec / Multitec-RO

Gland packing: PTFE-impregnated polyacryl

P max upto100 °C up to 140 °C
Without bal d 25 bar
! out balance drum 65 66
With balance drum 63 bar
Static seals FPM EPDM
Design N/b N/c

Plant conditions
Ps abs. = 1 bar

with suction head operation

Ps abs. < 1 bar (vacuum vessel)
with clean external sealing liquid
barrier pressure > pressure to be sealed

Technical features

without lantern ring

1 lantern ring on suction side
1 lantern ring on discharge side
2 tapped holes for auxiliary pipework

Multitec-RO
Code
80 82 83

Mechanical | MG12 M7N MG12

echanical sea AQ1VMM Q1AVMM Q1Q1VMM
Max. pressure at the mechanical seal 16 bar 25 bar 10 bar
Fluid handled Sea water Sea water without Sea water with sol-

uid handie without solids solids ids content < 2%




KSB b‘ Multitec / Multitec-RO

Materials table

- Material variant
Part no. | Description
103 173) 113) 153) 123) 163
106 | Suction casing JL1040 GP240GH+N JL1040 GP240GH+N JL1040 GP240GH+N
107 | Discharge casing JL1040 GP240GH+N JL1040 GP240GH+N JL1040 GP240GH+N
. $355J2G3 1)/ | $355J2G3 ")/
108 Stage casing JL1040 JL1040 JL1040 JL1040 JL1040 2 JL1040 2
171 | Diffuser JL1040 2) 9) JL1040 2) 9) JL1040 2) 9) JL1040 2) 9) CC480K-GS CC480K-GS
210 | Shaft C45+N 4 C45+N 4 C45+N 4 C45+N 4 C45+N 4 C45+N 4
230 | Impeller JL1040 JL1040 CC480K-GS CC480K-GS CC480K-GS CC480K-GS
231 | Suction impeller JL1040 JL1040 CC480K-GS CC480K-GS CC480K-GS CC480K-GS
350 Bearing housing JL1040 JL1040 JL1040 JL1040 JL1040 JL1040
381/529 | Plain bearing assy. SiC/SiC SiC/SiC SiC/SiC SiC/SiC SiC/SiC SiC/SiC
441 | Stuffing box housing JL1040 JL1040 JL1040 JL1040 JL1040 JL1040
Casing wear ring
502.1 | < Lction side) JL1040 9) JL1040 1.4138 9) 1.4138 1.4138 9) 1.4138
2) | Casing wear ring
50227 | Stages) JL1040 JL1040 1.4138 1.4138 1.4138 1.4138
Shaft sleeve
523 | achanical seal) 1.4057+QT800 | 1.4057+QT800 | 1.4057+QT800 | 1.4057+QT800 | 1.4057+QT800 | 1.4057+QT800
Shaft protecting
524 | Joeve (packing) 1.4122 1.4122 1.4122 1.4122 1.4122 1.4122
550.16) | pisc 1.4301 1.4301 1.4301 1.4301 1.4301 1.4301
59-4 | Balance drum 1.4021 1.4021 1.4021 1.4021 1.4021 1.4021
540 |Bush JL1040 JL1040 JL1040 JL1040 JL1040 JL1040
905 Tie bolt 42 CrMo4 30 NCD 16 42 CrMo4 30 NCD 16 42 CrMo4 30 NCD 16
- Material variant
Part no. | Description
133) 143) 20 21 22 23
106 | Suction casing JL1040 JL1040 GP240GH+N GP240GH+N GP240GH+N GP240GH+N
107 | Discharge casing JL1040 JL1040 GP240GH+N GP240GH+N GP240GH+N 1.4408
. $355J2G3 1)/ $355J2G3 1)/ | S355J2G31)/ | S$355J2G3 1)/
108 | Stage casing JL1040 JL1040 GP240GH+N 2 | GP240GH+N 2 | GP240GH+N 2 | GP240GH+N 2
171 | Diffuser JL1040 2) 9) JL1040 2) 9) JL1040 JL1040 1.4408 1.4408
210 | Shaft C45+N 4 C45+N 4 8) C45+N 4 C45+N 4 1.4021+QT 8) 1.4021+QT 8
230 | Impeller JL1040 1.4408 JL1040 JL1040 1.4408 1.4408
231 | Suction impeller 1.4408 1.4408 JL1040 1.4408 1.4408 1.4408
350 | Bearing housing JL1040 JL1040 JL1040 JL1040 JL1040 JL1040
381/529 | Plain bearing assy. SiC/SiC SiC/SiC SiC/SiC SiC/SiC SiC/SiC SiC/SiC
) ) GP240GH+N/ | GP240GH+N/ | GP240GH+N/ 1.4408 /
441 Stuffing box housing JL1040 JL1040 1.4404 10 1.4404 10 1.4404 10) 1.4404 10)
Casing wear ring 9 9
5021 | ietion side) JL1040 9 JL1040 9 JL1040 JL1040 1.4138 1.4138
50222 (Csi‘:é’;gs;’vear ring JL1040 JL1040 JL1040 JL1040 1.4138 1.4138
Shaft sleeve
523 | achanical seal) 1.4057+QT800 | 1.4057+QT800 | 1.4057+QT800 | 1.4057+QT800 1.4571 1.4571
Shaft protecting
524 | Joeve (packing) 1.4122 1.4122 1.4122 1.4122 1.4122 1.4122
550.16) | pisc 1.4301 1.4301 1.4301 1.4301 1.4571 1.4571
59-4 | Balance drum 1.4021 1.4021 1.4021 1.4021 1.4021 1.4021
540 |Bush JL1040 JL1040 JL1040 JL1040 1.4021 1.4021
905 | Tie bolt 42 CrMo4 42 CrMo4 30NCD 16 30NCD 16 30NCD 16 30NCD 16

1) For sizes DN 32 to DN 100

2) For sizes DN 125 and DN 150

3) Upto t<=140°C

4) Available in material 1.4021

5) Sizes DN 32 to DN 100: integrated in stage casing
6) For sizes DN 32 to DN 100 only; also used as casing wear ring
7) Size DN 125: last stage casing made of 1.4317

8) Available in material 1.4462

9) For sizes DN 100 to DN 150

10) 1.4404 for shaft seal code 64 only

11) Multitec RO only (installation type A)




ksB L.

Multitec / Multitec-RO

- Material variant
Part no. | Description
25 26 27 30 31/RO M)
106 | Suction casing GP240GH+N GP240GH+N GP240GH+N 1.4408 1.4517
107 | Discharge casing GP240GH+N GP240GH+N 1.4317 1.4408 1.4517
$355J2G3 1)/
, $355J2G3 1)/ | $355J2G3 1)/ 2 | 1440471/
108 | Stage casing GP240GH+N 2 | GP240GH+N 2 | CP240CHIN 1.4408 2 1.4517
171 Diffuser JL1040 CC480K-GS JL1040 1.4408 1.4517
210 | shait C45+N 4 C45+N 4 1.4021+QT 1.4462 1.4462
230 | Impeller CC480K-GS CC480K-GS JL1040 1.4408 1.4517
231 Suction impeller CC480K-GS CC480K-GS JL1040 1.4408 1.4517
350 Bearing housing JL1040 JL1040 JL1040 JL1040 JL1040
381/529 | Plain bearing assy. SiC/SiC SiC/SiC SiC/SiC SiC/SiC SiC/SiC
441 |sufingboxhousing | GP240GHN | GP240GH+N | GP240GH:N | '4408) 1.4517
Casing wear ring
502.1 (suction side) 1.4138 1.4138 JL1040 1.4571 1.4462
2) | Casing wear ring 2 2 2
50223 | ages) 1.4138 2 1.4138 2 JL1040 1.4571 1.44622)
Shaft sleeve
523 (mechanical seal) 1.4057+QT800 1.4057+QT800 1.4057+QT800 1.4571 1.4462
Shaft protecting - -
524 sleeve (packing) 1.4122 1.4122 1.4122
550.16) | Disc 1.4301 1.4301 1.4301 1.4571 1.4539
59-4 | Balance drum 1.4021 1.4021 1.4021 1.4404 1.4462
540 Bush JL1040 JL1040 JL1040 1.4138 1.4462
905 Tie bolt 30 NCD 16 30 NCD 16 30 NCD 16 30 NCD 16 30 NCD 16
1) For sizes DN 32 to DN 100 7) Size DN 125: last stage casing made of 1.4317
2) For sizes DN 125 and DN 150 8) Available in material 1.4462
3) Upto t<=140°C 9) For sizes DN 100 to DN 150
4) Available in material 1.4021 10) 1.4404 for shaft seal code 64 only
5) Sizes DN 32 to DN 100: integrated in stage casing 11) Multitec RO only (installation type A)
6) For sizes DN 32 to DN 100 only; also used as casing wear ring

Material Equivalents

Description Short designation and material No. |Standard toNF A to ASTM
Cast iron JL1040 / GJL-250 EN 1561 - A48:40B
Bronze CC480K-GS EN 1982 - B505C90250
Steel C45+N /1.0503+N EN 10083-2 - A29Gr.1045
Steel S355J2G3/1.0570 EN 10025 E36-4 A678C
Cast steel GP240GH+N / 1.0619+N EN 10213-2 - A216WCB
Chrome steel 1.4021+QT / X20Cr13+QT EN 10088 - A276:420
Chrome nickel steel 1.4122 / X35CrMo17 EN 10088 - A276S42010 (similar)
Chrome nickel steel 1.4057+QT800 / EN 10088-3 - A276:431

X17CrNi16-2-QT800
Chrome nickel steel 1.4138 / GX120CrMo29-2 SEW 410 Z1200D29-02-M -
Chrome nickel steel 1.4301 / X5CrNi18-10 EN 10088 - A276:304
Chrome nickel molybdenum steel 1.4404 / X2CrNiMo 17-12-2 EN 10088 - A276:316L
Chrome nickel molybdenum cast steel |1.4408 / GX5CrNiMo19-11-2 EN 10213 - A743CF8M
Chrome nickel molybdenum steel 1.4462 / X2CrNiMoN22-5-3 EN 10088 - A473 S32950
Chrome nickel molybdenum steel 1.4571 / X6CrNiMoTi17-12-2 EN 10088 - A276:316
Silicon carbide SiC - SiC SiC

without free silicon without free silicon without free silicon
Bar steel 20NiCrMo14-51 (1.6772) / VdTUV 337/ |16NC11n. A36-612/  |A540 Gr. B24 /

30 NCD 16 KSB-Materials |- -

data sheet
WSZ 1179

Steel 42CrMo4 / 1.7225 EN 10083-1 - A322GR.4140 (similar)
Chrome nickel molybdenum cast steel [1.4317 EN 10213-2 A487 Grade CA6NM
Cast duplex stainless steel 1.4517 EN 10213-4 A995 Grade CD4MCuN
Austenitic stainless steel 1.4539 EN 10028-7

10




ksB L.

Multitec / Multitec-RO

Multitec
Benefits at a glance

1st stage with special suction
impeller
- Low NPSH required

- High efficiencies

Newly developed hydraulics

- Low operating costs

Casing wear rings
Sizes 32 to 100:

stainless steel

Cover discs/Casing wear ring made of

Axial thrust balancing with bal-

ance drum

- Low bearing loads under
variable operating conditions

- Improved suction behaviour, higher
operational reliability in suction lift

operation

Ias

between bearings design

Adaptation of the material
from many possible options
(Grey cast iron, steel, stainless
steel)

Axial inlet,
pump size > 65

- High resistance

- Easy and cost-effective replacement

- Low pressure in shaft seal
chamber (= use of standard

Sizes 125 to 150:

Casing wear rings as per material code -

seals)
Long life of rolling element

i

bearings and shatft seal

—”\jw} 7 _ \\ \ _ |
i ) 4‘
N W N 7 \
7] /] %
N\ ‘ > _ =
A - N — 3
V%
= == - == - == - = . =
\ Z z
o
- i i ‘
& el g ‘ a
0 7))
e =
_

Plain bearings made of

silicon carbide -

- Longer service life -

- Higher reliability

- Maintenance-free

- One shaft seal only

- Dimensioned for start-stop -
operation and all speeds

Shaft sealed by

Uncooled gland packing up to 140 °C
Standardised mechanical seal,
balanced or non-balanced

Uncooled up to 140 °C,

cooled up to 200 °C

Single or double-mechanical seals

Cartridge-type mechanical seals

Shaft protecting sleeve made of

stainless steel

- Efficient protection of the shaft
from wear

- Quick and simple replacement of
the shaft seal

(T

|
| Ll
T

Single mechanical seal Double mechanical seal,
e.g. tandem arrangement
=3
=
I _ #:4 4
i h)
r - __1 "
L [ —— g
Y ) ” = =t
wal

Installation type E

—= -

=

i
- =—

0

W

W /
Installation type V;
Separate rolling element bearing
in the motor lantern from pump
size 100 upwards

11




—
ksg D..

Multitec / Multitec-RO

Multitec-RO
Benefits at a glance
Pump size 65 to 100

- -

N
L
N

E—
= 7 N .|/—'-\ i
. = ;
TN
l —
3 —_
— — & SO ——== o= = — —
N \EE\N

T 7

k‘—'— - S
Plain bearings made of silicon
carbide
- Longer servics life Newly developed hydraulics

- Higher reliability

- Maintenance-free

- One shaft seal only

- Dimensioned for start-stop
operation and all speeds

- High efficiencies
- Low operating costs

Axial thrust balancing with

balance drum

- Low bearing loads under
variable operating conditions

- Reduced pressure at the shaft
seal

- Long life of rolling element
bearings and shaft seal

Casing wear rings
Sizes 50 to 100:

1st stage with special suction

impeller

- Low NPSH required

- Improved suction behaviour, higher
operational reliability in suction lift

Cover discs/Casing wear ring made of
stainless steel
- High resistance
- Easy and cost-effective replacement
Sizes 125 to 150:

Casing wear rings made of duplex

Shaft sealed by
Mechanical seal, uncooled

operation

stainless steel

Pump size 125/150

ﬁ;qﬂ;; :I _

N

b

¢

”

a

|||1 M

1 l_zln_' 1

2

Vi

12

T
DT S —

4 =
2SN
._=l
— = - ——— - - = —<= - ——=
=
/1 =



ksB L.

Multitec / Multitec-RO

Technical data

Unit Pump sizes
32 50 65 100 125 150
Shaft diameter  at the coupling mm 22 28 32 40 50 60
Bearings Fixed bearing 6309C3 | 2x7309 | 2x7309 | 2x7312 2x7312 BUA 2x7315 BUA
BUA BUA BUA
Floating bearing 6309C3 | 6309C3 | 6309C3 | 6312 C3 6312 C3 6315 C3
Plain bearing SiC
Gland packing  Dimensions of packing rings mm | 10x10 | 10x10 | 10x10 | 12x 12 12x12 16x 16
Number of packing rings piece 5 5 5 5 6 6
Width of lantern ring mm 20 20 20 25 25 32
Shaft protecting Gland packing mm 450 450 450 56 @ 66 @ 780
sleeve Mechanical seal single mm |35/3807) |35/3801) | 400 500 600 700
Drive Shaft C 45N 0.0214 | 0.0523 | 0.0697 0.15 0.3016 0.5371
(P/n value) Shaft 1.4021+QT 0.0346 | 0.0846 | 0.1128 | 0.2426 0.4879 0.8688
Shaft 1.4462 0.0302 | 0.0738 | 0.0984 | 0.2118 0.4258 0.7582
Other Hydraulics 21 3.1/4.1 5.1/6.1 | 7.1/8.1 9.1/9.2 |10.1/10.2 | 11.1/11.2 |12.1/12.2
Max. impeller diameter mm 142 170/173 | 193/214 | 241/245 | 301/273 | 305/270 | 378/342 | 382/337
Length of spacer sleeve for mm 140 140 140 180 180 200
spacer-type couplings
1) Balanced mechanical seal: 35 mm, non-balanced mechanical seal: 38 mm
Casing Drive

Radial discharge casings can be turned in steps of 90°.
Identical seal housings for gland packing and mechanical seal
(separate component).

Stage casings, discharge casing and seal housings sealed by
confined O-rings.

Slightly elastic or non-elastic sealing rings (PTFE etc.) can be
installed.

Standard flange designs

Vatora Flanges drilled to EN Pl e 10

Sncarg | Spcten | Dichage | Sucten | Dcherse
10 EN1092-2 | PN 16 PN 40 125 RF 250 RF
1 EN1092-2 | PN 16 PN 40 125 RF 250 RF
12 EN1092-2 | PN 16 PN 40 125 RF 250 RF
13 EN1092-2 | PN 16 PN 40 125 RF 250 RF
14 EN1092-2 | PN 16 PN 40 125 RF 250 RF
15 EN 1092-1 PN 25 PN 63 300 RF 600 RF
16 EN 1092-1 PN 25 PN 63 300 RF 600 RF 2)
17 EN 1092-1 PN 25 PN 63 300 RF 600 RF 2)
20 EN 1092-1 PN 25 PN 63 300 RF 600 RF 2)
21 EN 1092-1 PN 25 PN 63 300 RF 600 RF 2)
22 EN 1092-1 PN 25 PN 63 300 RF 600 RF 2)
23 EN 1092-1 PN 25 PN 63 300 RF 600 RF 2)
25 EN 1092-1 PN 25 PN 63 300 RF 600 RF 2)
26 EN 1092-1 PN 25 PN 63 300 RF 600 RF 2)
27 EN 1092-1 PN 25 PN 1003 | 300RF 600 RF
30 EN 1092-1 PN 25 PN 63 300 RF 600 RF 2)

63 bar | EN 1092-1 PN 25 PN 63
31 (RO) 300 RF 600 RF
80 bar | EN 1092-1 PN 25 PN 100 3
2) For pump size 32: discharge flange DN 1/4” can also be supplied with DN 1 1/5”, if

requested

3) Only for MTC 100 and 125

Other flange machining variants on request.

By three-phase squirrel cage motor;

types of construction:

Installation types A, B, C and D: IMB3

Installation types E, F: IMV1 up to 45 kW,

>45 kW IMB 35
Installation type V: IMV1
Enclosure: IP 55/IP 23
Thermal class: F

Direction of rotation:

Installation types A, B, C, E, F, V clockwise, viewed from the
drive end

Installation type D counterclockwise, viewed from the drive end

Options: special voltages,
explosion proof, Insulated
bearing,
heating resistor

Couplings

Flexible couplings without/with spacer. Others on request.
Close-coupled pumps up to DN 65 with rigid coupling,
above DN 65 with flexible coupling without spacer sleeve.

Coupling guard

Cylindrical coupling guard (standard).

On request: rigid coupling guard with feet (will support a
person’s weight).

Baseplates

Sectional steel, welded or U-rails for complete unit (pump and
motor).

Horizontal close-coupled units are supplied with 2 U-rails for
easier installation.

13



ksB L.

Multitec / Multitec-RO

Documentation

Standard documentation:

- Data sheet

- Characteristic curve

- Installation plan

- Wiring diagram

- EC declaration of conformity

Other documentation available on request
Inspections/Certificates

Standard without special certificates:

Hydrostatic internal pressure test of pressure-retaining
components:

Discharge casing, stage casings, suction casing and seal
housing at 1.3 times the max. permissible internal operating
pressure.

On customer’s request:

At extra charge:

e Material certificate 2.2 to EN 10204 for the components as
per QCP ZN 58014 / ZN 58027

Test certificate 3.1B to EN 10204

Dimensions check

Coating inspection

Final inspection

Strip test

Hydrostatic pressure test of pressure-retaining components

Hydraulic performance tests:

e Hydraulic performance test to ISO 9906 or Hydraulic
Institute

o NPSH-test

Other tests available:
e Balancing test
e Vibration test

Guarantee conditions

The duty point shall be limited to the area defined by the
performance curve. The minimum flow rate specified in the
quotation must be observed.

Pump operation outside the performance curve range may
cause destruction of the pump set and loss of warranty.

The NPSH values given in the characteristic curves booklet are
measured values which correspond to the cavitation limit. They
apply to cold water without gas.

To allow for measuring tolerances and production-related
scattering, a margin of 10 %, but not less than 0.5 m must be
taken into account.

The heads and powers documented in the characteristic
curves booklet apply to liquids with a density p = 1.0 kg/dm3 and
a kinematic viscosity of 20 mm2/s.

Forces and moments

See operating manual.
The forces and moments indicated must not be exceeded.

14

Noise characteristics

Rated Sound pressure level L pA (dB) 12
powel;r'\‘input Pump only Pump with motor
(kW) 1450 1/min | 2900 1/min | 1450 1/min | 2900 1/min
2.2 56 57 60 65
3.0 58 60 62 67
4.0 59 61 63 68
5.5 61 63 65 70
7.5 63 65 66 71
9 64 66 68 73
11 65 67 68 73
15 66 68 70 75
18.5 67 69 71 76
22 68 70 72 77
30 69 71 73 78
37 70 72 74 79
45 71 73 75 79
55 71 74 75 80
75 72 74 77 82
90 72 75 77 82
110 73 75 78 83
132 73 76 78 83
160 74 76 79 84
200 75 77 80 85
250 75 78 -- --
315 76 78 -- --

1) Measured at a distance of 1 m from the pump outline (as per
DIN 45635, Parts 1 and 24)
2) For 60 Hz operation: 3500 rpm +3dB; 1750 rpm 1dB

Noise characteristics can only be guaranteed after consultation
with the design/engineering department.
Noise characteristics for higher power ratings on request.

Coating/Preservation
to AN 1865



ksB L.

Multitec / Multitec-RO

Recommended stock of spare parts for two years’ operation acc. to DIN 24 296

Part no. Description Number of pumps (including stand-by pumps)

2 ‘ 3 ‘ 4 ‘ 5 ‘6and7‘8and9 ‘10andmore
For shaft seal codes 65 and 66 (gland packing)
210 Shaft with small parts 1 1 2 2 2 3 30 %
230 Impeller (set = S) 1 1 1 2 2 3 30 %
231 Suction impeller 1 1 1 2 2 3 30 %
320.1 4) Angular contact ball bearings (set) 1 1 2 2 3 4 50 %
320.2 4) Radial ball bearing 1 1 2 2 3 4 50 %
381 (MTC) or | Bearing cartridge (MTC) or
545 (MTC bearing bush (MTC RO) 1 1 2 2 3 4 50 %
RO) %
411.6/.7 V-Ring (set) 4 8 8 8 9 12 150 %
412 O-ring (set) 4 8 8 8 9 12 150 %
461 Gland packing (set) 4 6 8 8 9 12 150 %
502 1) Casing wear ring (set) 2 2 2 3 3 4 50 %
520 Sleeve 1 1 2 2 3 4 50 %
524 Shaft protecting sleeve 2 2 2 3 3 4 50 %
525 Spacer sleeve 2 2 2 3 3 4 50 %
529 Bearing sleeve 1 1 2 2 3 4 50 %
540.1 Bush 1 1 1 2 2 3 30 %
550.1 2) Disc 2 2 2 3 3 4 50 %
59-4 Balance drum 1 1 1 2 2 3 30 %
For shaft seal codes with mechanical seal
433 Compl. mechanical seal 3) 3 4 5 6 7 90 %
523 Shaft sleeve (set) 2 2 2 3 3 4 50 %

1) Pump sizes 125 and 150 only, and casing wear

ring in suction

casing for pump sizes 32 to 100

of material variants 20 to 30.
2) Only pump sizes 32 up to 100

Nozzle Po

sitions

3) The parts 461 and 524 are not installed

Parts form a subassembly with part no. 520
Part No. 381 or 545 forms an assembly with Part No. 529.

Nozzle positions are variable. The nozzle position required must be entered in the selection software when ordering.

N.B.! Nozzle position 0-0 (or fig. 2 for vertical installation) is only possible for all pump sizes and material variants from the third
stage upwards! Exception: DN 150 in material variants 10, 11, 12 and 14: on these pumps, nozzle position 0-0 is possible from
the second stage upwards!
Nozzle positions are defined as viewed from the drive end.

1.Horizontal installation (A, B, C, D, E and F)

The first letter defines the position of the suction nozzle, the

second letter t

hat of the discharge nozzle.

Nozzle positions on horizontal pumps:

axial s

rIno>»
I

uction nozzle

= suction and/or discharge nozzle on top
= suction and/or discharge nozzle on the right
= suction and/or discharge nozzle on the left

Examples of nozzle

position codes in the
selection software:
Hﬂ- 1 1 } A-0
SR
mraN I I I O e B ]
—©) o= L0
I
A
T = R-L
Eo e

[

2. Vertical installation

The suction nozzle (bottom) is regarded as a fixed point. The
illustration number indicates the displacement of the discharge
nozzle versus the suction nozzle.

H— F;g- @ Fisg.
| =

—

1 = turned by 180°

3 = turned by 90° to the left

c—F— ——
. :| Fig. :(5): Fig.
2 T 4

] =

2 = same position 4 = turned by 90° to the right

15



KSB b‘:H Multitec / Multitec-RO

Dimensions
Dimensions are non-binding and provided for general information only.

Multitec A, B, C, D / Multitec RO A

h2 h2
z
“— u
d1
d?
m3 m3 n2
L5 mk L6 n1
B e f h2 h2
ONT | N2 ¢ U
- oD VA
S 2 : . T
M. 1 ; 7 = [t %
— <= <
= d1 = {-ﬁ‘" ”1—1
- =R ——88
6B.1 i 6B.2 “
m2 m?2 d?
n3 m3 n?
mk L6 n1

C 13 e f h?2 h?2
U1
ot ¢ ¥ oz — 7
M. 1S 1.2 _ u o To
/ 4 _ N 1% %
\ ¥ -
. i » b= | 4
gg—" : & =—88 >
6B. 1 | 6B.2
m2 m2 d2
3 m3 n2
mb L6 nt
D h2 h?2 f1 e 12
N oNt § 1 ON2
7 oTTn
- M. AT M. 2
. : ' Multitec | d t u
2
= — ~ 32 22 24,5 6
d1 BB i\*\as 50 28 | 31 8
68.1 ' 68.2 65 32 35 10
d2 n nZ 100 | 40 | 43 | 12
n2 3 m3 125 50 | 535 14
ni L4 mh__| 150 60 64 18
Anschliisse / Connections / Raccords / Attacchi / Aansluitingen / Conexiones
G =1S0 228/1 Multitec A / Multitec RO A Multitec B, C, D
Rp = ISO 7/1
p=1S07/ 32 50 65 100 125 150 32 50 65 100 125 150
1M1 (*) G - - A /o A 1 A A A A /o /o
1M.2 (%) G A /o /o s s 2 s s A s 12 12
6B.1 (*) G - - A 1/, 1/, 1/, A 4 A A A 1
6B.2 (*) G 4 4 A A A A 4 4 /o /o /o A
8B Rp 3/g 3/g 3/g 3/g 3/g 3/g 3/g 3/g 3/g 3/g 3/g 3/g

(*) Not provided on Multitec RO A
16



KSB b‘ Multitec / Multitec-RO

mm
Il 2 DNy

X;‘}gﬁg % % DN» a dik7 | do e f 4 h4 ha i l4 Io I3 lg Is ls mo m3 mgy n4 no s
32 |2 10 65 | 50 | 32 | 168 | 22 | 16 | 121 | 300 | 295 | 132 | 175 | 9 | 50 | 255 | 241 | 304 | 56 | 306 | 20 | 40 | 115 | 330 | 290 | 20
3 1 65 | 50 | 32 | 223 | 22 | 16 | 176 | 300 | 295 | 132 | 175 | 9 | 50 | 255 | 241 | 304 | 56 | 306 | 20 | 40 | 170 | 330 | 290 | 20

N ]g 65 | 50 | 32 | 278 | 22 | 16 | 231 | 300 | 295 | 132 [175 | O | 50 | 255 | 241 | 304 | 56 | 306 | 20 | 40 | 225 | 330 | 290 | 20

5 12 65 | 50 | 32 | 333 | 22 | 16 | 286 | 300 | 295 | 132 [ 175 | 9 | 50 | 255 | 241 | 304 | 56 | 306 | 20 | 40 | 280 | 330 | 290 | 20

6| 15 65 | 50 | 32 | 388 | 22 | 16 | 341 | 300 | 295 | 132 | 175 | 9 | 50 | 255 | 241 |304 | 56 | 306 | 20 | 40 | 335 | 330 | 290 | 20
7] } g 65 | 50 | 32 | 443 | 22 | 16 |396 | 309 | 295 | 132 | 175 | 9 | 50 | 255 | 241 | 304 | 56 | 306 | 20 | 40 | 390 | 330 | 290 |20

8 a0 65 | 50 | 32 | 498 | 22 | 16 | 451 | 300 | 295 | 132 [ 175 | O | 50 | 255 | 241 | 304 | 56 | 306 | 20 | 40 | 445 | 330 | 290 | 20

9| o1 65 | 50 | 32 | 553 | 22 | 16 | 506 | 300 | 295 | 132 [ 175 | O | 50 | 255 | 241 | 304 | 56 | 306 | 20 | 40 | 500 | 330 | 290 | 20

[fo| 22 65 | 50 | 32 | 608 | 22 | 16 | 561 | 309 | 295 | 132 | 175 | 9 | 50 | 255 | 241 | 304 | 56 |306 | 20 | 40 | 555 | 330 | 290 |20
KR gg 65 | 50 | 32 | 663 | 22 | 16 | 616 | 300 265 | 132 [ 175 | § | 50 | 255 | 241 | 304 | 56 | 306 | 20 | 40 | 610 | 330 | 290 |20

2] g 65 | 50 | 32 | 718 | 22 | 16 | 671 | 300 | 295 | 132 [ 175 | 9 | 50 | 255 | 241 | 304 | 56 | 306 | 20 | 40 | 665 | 330 | 290 | 20

M3 30 65 | 50 | 32 | 773 | 22 | 16 | 726 | 300 | 295 | 132 [ 175 | 9 | 50 | 255 | 241 | 304 | 56 | 306 | 20 | 40 | 720 | 330 | 290 | 20
14| 65 | 50 | 32 | 828 | 22 | 16 | 781 | 300 | 295 | 132 | 175 | 9 | 50 | 255 | 241 | 304 | 56 | 306 | 20 | 40 | 775 | 330 | 290 | 20

50 |2 10 100 | 80 | 50 [190%) | 28 | 16 | 151 | 350 | 338 | 150 | 200 |18 | 61 |262 | 250 | 356 |57% | 355 | 20 | 40 | 128 | 330 | 290 | 20
ER }12 100 | 80 | 50 [252%) | 28 | 16 | 213 | 350 | 338 | 150 | 200 |18 | 61 | 262 | 250 | 356 |57 % | 355 | 20 | 40 | 190 | 330 | 290 | 20

z 13 100 | 80 | 50 [314% | 28 | 16 | 275 | 350 | 338 | 150 | 200 |18 | 61 | 262 | 250 | 356 |57 % | 355 | 20 | 40 | 252 | 330 | 290 | 20

5 14 100 | 80 | 50 [376%) | 28 | 16 | 337 | 350 | 338 | 150 | 200 |18 | 61 | 262 | 250 | 356 |57 % | 355 | 20 | 40 | 314 | 330 | 290 | 20
5| }g 100 | 80 | 50 |438% | 28 | 16 | 399 | 350 | 338 | 150 | 200 | 18 | 61 | 262 | 250 | 356 |57% | 355 | 20 | 40 | 376 | 330 | 290 | 20

7 > 100 | 80 | 50 |500%) | 28 | 16 | 461 | 350 | 338 | 150 | 200 |18 | 61 | 262 | 250 | 356 |57 % | 355 | 20 | 40 | 438 | 330 | 290 | 20

8| 20 100 | 80 | 50 |562%) | 28 | 16 | 523 | 350 | 338 | 150 | 200 |18 | 61 | 262 | 250 | 356 |57 % | 355 | 20 | 40 | 500 | 330 | 290 | 20
EREES 100 | 80 | 50 |624%) | 28 | 16 | 585 | 350 | 338 | 150 | 200 |18 | 61 | 262 | 250 | 356 |57 % | 355 | 20 | 40 | 562 | 330 | 290 | 20
70| gg 100 | 80 | 50 |686% | 28 | 16 | 647 | 350 | 338 | 150 | 200 |18 | 61 | 262 | 250 | 356 |57 | 355 | 20 | 40 | 624 | 330 | 200 | 20

| o5 100 | 80 | 50 [748% | 28 | 16 | 700 | 350 | 338 | 150 | 200 |18 | 61 | 262 | 250 | 356 |57 | 355 | 20 | 40 | 686 | 330 | 200 | 20
12| 26 100 | 80 | 50 [810% | 28 | 16 | 771 | 350 | 338 | 150 | 200 |18 | 61 | 262 | 250 | 356 |57 % | 355 | 20 | 40 | 748 | 330 | 290 | 20
13 gg 100 | 80 | 50 [872%) | 28 | 16 | 833 | 350 | 338 | 150 | 200 |18 | 61 | 262 | 250 | 356 |57 % | 355 | 20 | 40 | 810 | 330 | 290 | 20
14| 31(Roy | 100 | 80 | 50 [934% | 28 | 16 | 895 | 350 | 338 | 150 | 200 | 18 | 61 |262 | 250 | 356 |57 |355 | 20 | 40 | 872 | 330 | 290 | 20

15 100 | 80 | 50 [996%) | 28 | 16 | 957 | 350 | 338 | 150 | 200 |18 | 61 | 262 | 250 | 356 |57 % | 355 | 20 | 40 | 934 | 330 | 290 | 20

65 |2 |10 125 | 100 | 65 | 247 | 32 | 20 | 189 | 393 | 380 | 190 | 225 |18 | 82 | 303 |291 | 399 | 77 | 394 | 30 | 60 | 169 |405 |365 |25
ERB) 125 | 100 | 65 | 326 | 32 | 20 | 268 | 393 | 380 | 190 | 225 |18 | 82 | 303 | 291 | 399 | 77 | 394 | 30 | 60 | 248 | 405 | 365 |25
Ea 15 125 [ 100 | 65 | 405 | 32 | 20 | 347 | 393 | 380 | 190 | 225 |18 | 82 | 303 | 201 | 399 | 77 | 394 | 30 | 60 | 327 | 405 | 365 | 25

5 |14 21 |125 | 100 | 65 | 484 | 32 | 20 |426 | 393 | 380 | 190 | 225 | 18 | 82 | 303 | 201 | 399 | 77 | 394 | 30 | 60 | 406 | 405 | 365 |25
6|15 22 [125 [ 100 | 65 | 563 | 32 | 20 |505 | 393 | 380 | 190 | 225 |18 | 82 | 303 | 291 |399 | 77 | 394 | 30 | 60 | 485 | 405 | 365 | 25
7] 13 gg 125 | 100 | 65 | 642 | 32 | 20 | 584 | 393 | 380 | 190 | 225 |18 | 82 | 303 | 291 | 399 | 77 | 394 | 30 | 60 | 564 | 405 | 365 |25

8 |29 o6 |125| 100 | 65 | 721 | 32 | 20 | 663 | 398 | 380 | 190 | 225 |18 | 82 | 303 | 291 | 399 | 77 | 394 | 80 | 60 | 643 | 405 | 365 |25
9| 27 [125 100 | 65 | 800 | 32 | 20 | 742 | 393 | 380 | 190 | 225 | 18 | 82 | 303 | 201 | 399 | 77 | 394 | 30 | 60 |722 | 405 | 365 |25
0] 4 ?30) 125 | 100 | 65 | 879 | 32 | 20 | 821 | 393 | 380 | 190 | 225 |18 | 82 | 303 | 291 | 399 | 77 | 394 | 30 | 60 | 801 | 405 | 365 |25

11 125 | 100 | 65 | 958 | 32 | 20 | 900 | 393 | 380 | 190 | 225 |18 | 82 | 303 | 291 | 399 | 77 | 394 | 30 | 60 | 880 | 405 | 365 |25

100 |2 |10 150 | 125 | 100 | 306 | 40 | 26 | 233 | 472 | 463 | 235 | 275 |30 | 110 | 339 | 329 | 492 | 103 |462 | 35 | 70 | 213 | 504 | 450 |30
ERB) 150 | 125 | 100 | 396 | 40 | 26 | 323 | 472 | 463 | 235 | 275 |30 | 110 | 339 | 320 | 492 | 103 | 462 | 35 | 70 | 303 | 504 | 450 | 30
4] 15 150 | 125 | 100 | 486 | 40 | 26 | 413 | 472 | 463 | 235 | 275 |30 | 110 | 339 | 320 | 492 | 103 | 462 | 35 | 70 | 393 | 504 | 450 | 30

5 |14 21 |150 | 125 | 100 | 576 | 40 | 26 |503 | 472 | 463 | 235 | 275 | 30 | 110 | 339 | 320 | 492 | 103 | 462 | 35 | 70 | 483 | 504 | 450 |30
6 |15 22 [150 | 125 | 100 | 666 | 40 | 26 | 593 | 472 | 463 | 235 | 275 | 30 | 110 | 339 | 320 | 492 | 103 | 462 | 35 | 70 | 573 | 504 | 450 | 30
7] 13 gg 150 | 125 | 100 | 756 | 40 | 26 | 683 | 472 | 463 | 235 | 275 |30 | 110 | 339 | 320 | 492 | 103 | 462 | 35 | 70 | 663 | 504 | 450 | 30

8 |29 o6 |150 | 125 | 100 | 846 | 40 | 26 | 773 | 472 | 463 | 235 | 275 |30 | 110 | 339 | 329 | 492 | 103 | 462 | 85 | 70 | 753 | 504 | 450 |30
9| 27 [150 | 125 | 100 | 936 | 40 | 26 | 863 | 472 | 463 | 235 | 275 |30 | 110 | 339 | 320 | 492 | 103 | 462 | 35 | 70 | 843 | 504 | 450 |30
1] ?30) 150 | 125 | 100 | 1026 | 40 | 26 | 953 | 472 | 463 | 235 | 275 |30 | 110 | 339 | 320 | 492 | 103 | 462 | 35 | 70 | 933 | 504 | 450 | 30

1 150 | 125 | 100 | 1116 | 40 | 26 |1043 | 472 | 463 | 235 | 275 |30 | 110 | 339 | 320 | 492 | 103 | 462 | 35 | 70 |1023 | 504 | 450 | 30
125 |2 10 200 | 150 | 125 | 393 | 50 | 26 | 292 | 488 |478 | 300 | 325 |10 | 110 | 355 | 345 | 488 | 111 | 464 | 22 | 94 | 306 | 320 | 250 | 30
ERER 200 | 150 | 125 | 505 | 50 | 26 | 404 | 488 | 478 | 300 | 325 |10 | 110 | 355 | 345 | 488 | 111 | 464 | 22 | 94 | 418 | 320 | 250 | 30
4] 15 200 | 150 | 125 | 617 | 50 | 26 | 516 | 488 | 478 | 300 | 325 |10 | 110 | 355 | 345 | 488 | 111 | 464 | 22 | 94 | 530 | 320 | 250 | 30

5 14 200 | 150 | 125 | 720 | 50 | 26 | 628 | 488 | 478 | 300 | 325 |10 | 110 | 355 | 345 | 488 | 111 | 464 | 22 | 94 | 642 | 320 | 250 | 30

6 | 200 | 150 | 125 | 841 | 50 | 26 | 740 | 488 | 478 | 300 | 325 |10 | 110 | 355 | 345 | 488 | 111 | 464 | 22 | 94 | 754 | 320 | 250 | 30
7 200 | 150 | 125 | 953 | 50 | 26 | 852 | 488 | 478 | 300 | 325 |10 | 110 | 355 | 345 | 488 | 111 | 464 | 22 | 94 | 866 | 320 | 250 | 30

8 200 | 150 | 125 [1065 | 50 | 26 | 964 |488 | 478 | 300 | 325 |10 | 110 | 355 |345 | 488 | 111 | 464 | 22 | 94 |978 | 320 | 250 |30

2 [ 15 21 | 200 | 150 | 125 | 393 | 50 | 30 | 292 | 488 | 478 | 300 | 325 |38 | 110 | 355 | 345 | 512 | 136 | 490 | 45 | 90 | 255 | 605 | 561 | 50
3116 22 [200 | 150 | 125 | 505 | 50 | 30 | 404 | 488 | 478 | 300 | 325 |38 | 110 | 355 | 345 | 512 | 136 | 490 | 45 | 90 | 367 | 605 | 561 |50
B ;g gg 200 | 150 | 125 | 617 | 50 | 30 | 516 | 488 | 478 | 300 | 325 |38 | 110 | 355 | 345 | 512 | 136 | 490 | 45 | 90 | 479 | 605 | 561 | 50

5 56 | 200 |50 [ 125 | 729 | 50 | 30 | 628 | 488 | 478 | 300 | 325 |38 | 110 | 355 | 345 | 512 | 136 | 490 | 45 | 90 | 591 | 605 | 561 | 50

6 o7 |[200 [ 150 | 125 | 841 | 50 | 30 | 740 | 488 | 478 | 300 | 325 |38 | 110 | 355 | 345 | 512 | 136 | 490 | 45 | 90 | 703 | 605 | 561 |50

7] 4 ?30) 200 | 150 | 125 | 953 | 50 | 30 | 852 | 488 | 478 | 300 | 325 |38 | 110 | 355 | 345 | 512 | 136 | 490 | 45 | 90 | 815 | 605 | 561 | 50

8 200 | 150 | 125 | 1065 | 50 | 30 | 964 | 488 | 478 | 300 | 325 |38 | 110 | 355 | 345 | 512 | 136 | 490 | 45 | 90 | 927 | 605 | 561 | 50

150 |2 10 250 | 200 | 150 | 452 | 60 | 34 | 338 |594 |578 | 350 | 400 |22 | 140 |426 | 411 | 600 | 137 | 567 | 30 | 104 | 342 | 350 | 265 | 30
ERER 250 | 200 | 150 | 584 | 60 | 34 | 470 | 594 | 578 | 350 | 400 | 22 | 140 | 426 | 411 | 600 | 137 | 567 | 30 | 104 | 474 | 350 | 265 | 30
4] 15 250 | 200 | 150 | 716 | 60 | 34 | 602 | 594 | 578 | 350 | 400 | 22 | 140 | 426 | 411 | 600 | 137 | 567 | 30 | 104 | 606 | 350 | 265 | 30

5 14 250 | 200 | 150 | 848 | 60 | 34 | 734 | 594 | 578 | 350 | 400 | 22 | 140 | 426 | 411 | 600 | 137 | 567 | 30 | 104 | 738 | 350 | 265 | 30

6 | 250 | 200 | 150 | 980 | 60 | 34 | 866 | 594 | 578 | 350 | 400 | 22 | 140 | 426 | 411 | 600 | 137 | 567 | 30 | 104 | 870 | 350 | 265 | 30

2| 15 21 [250 | 200 | 150 | 452 | 60 | 36 |338 | 594 | 578 | 350 | 400 | 46 | 140 | 426 | 411 | 624 | 161 | 591 | 50 | 100 | 294 | 735 | 679 |50
ER ]g gg 250 | 200 | 150 | 584 | 60 | 36 | 470 | 594 | 578 | 350 | 400 | 46 | 140 | 426 | 411 | 624 | 161 | 591 | 50 | 100 | 426 | 735 | 679 | 50
4] 20 25 [250 | 200 | 150 | 716 | 60 | 36 | 602 | 504 | 578 | 350 | 400 | 46 | 140 | 426 | 411 | 624 | 161 | 591 | 50 | 100 | 558 | 735 | 679 | 50
5| ';'8 250 | 200 | 150 | 848 | 60 | 36 | 734 | 594 | 578 | 350 | 400 | 46 | 140 | 426 | 411 | 624 | 161 | 591 | 50 | 100 | 690 | 735 | 679 | 50
"6 | 31(RO)[250 200 | 150 | 980 | 60 | 36 | 866 | 594 | 578 | 350 | 400 | 46 | 140 | 426 | 411 | 624 | 161 | 591 | 50 | 100 | 822 | 735 | 679 |50

1) Number of stages
2) Material code
*) On versions with ANSI flanges, 15 mm must be added to dimensions "a” and ”I5” for material variants 15/16/17/20/21/22/23/25/26/30/31 (RO).

17



KSB b‘ Multitec / Multitec-RO

Multitec E, F

E e h3 g h2__h2_
ovt 4 oned

]
i\i
|
h2

hé

6B.2/ : :\\mm 8.2
‘ \es.

DN2 §
M.2 3
ONt 1 ®
El Y
=
M. 1 ! AVAN L
/ | | Nes.1\88. 2 =;1
6B.1 15 N d2
v || 18 | &B.2 L _b20
L9 b30
a h3 0 h? __ h2
oN2 § M2
o B
N1 o
o (O
I ol —H
= f
M™.1 8.1/ |
88.2 nio
6.1 o6 2 i
1 | ac =
l dé
mB
Anschliisse / Connections / Raccords / Attacchi / Aansluitingen / Conexiones
G = I1SO 228/1 Multitec E Multitec F
Rp =180 7/1 32 50 65 100 125 150 32 50 65 100 125 150
1M.1 G 15 A A A A /o - - s s o 1
1M.2 G /s A A A A /o /o /o s s s o
6B.1 G A 4 A A A 1 - - 4 A A A
6B.2 G 14 14 15 15 15 15 14 14 A A A A
8B.1 Rp 3/g S/g S/g S/g S/g S/g S/g S/g /g /g /g /g
8B.2 Rp 3/g S/g S/g S/g g S/g g 3/g 3/g 3g 3g %

18




KSB b‘ Multitec / Multitec-RO

mm
Multitec 1) — DN1 w DNy a bog b3 do e ho i1 I5 ls lg l19 nqo S2
E.F g k=)
3 s
32 2 65 50 32 168 290 330 18 121 175 9 57 135 455 60 330 4
3 65 50 32 223 290 330 18 176 175 9 57 190 500 60 330 4
4 65 50 32 278 290 330 18 231 175 9 57 245 550 60 330 4
5 65 50 32 333 290 330 18 286 175 9 57 300 610 60 330 4
6 65 50 32 388 290 330 18 341 175 9 57 355 670 60 330 4
7 65 50 32 443 290 330 18 396 175 9 57 410 730 60 330 4
50 2 100 80 50 190 290 330 18 151 200 18 57 190 500 60 330 4
3 100 80 50 252 290 330 18 213 200 18 57 245 550 60 330 4
4 100 80 50 314 290 330 18 275 200 18 57 300 610 60 330 4
5 100 80 50 376 290 330 18 337 200 18 57 355 670 60 330 4
6 100 80 50 438 290 330 18 399 200 18 57 410 730 60 330 4
65 2 125 100 65 247 365 405 18 189 225 18 77 200 530 60 405 4
3 125 100 65 326 365 405 18 268 225 18 77 270 610 60 405 4
4 125 100 65 405 365 405 18 347 225 18 77 350 690 60 405 4
1) Stufenzahl Number of stages Nombre d’étages Numero degli stadi Aantal trappen N° de etapas
MTC E and F 32-50-65  Table of variable dimensions for motors IP 55 50Hz 2-pole and 4-pole
mm
Motor / motor / Moteur / ha he
Motor / Motore / Motor
. m, n
Fiange bs | ds MTC MTC i2 [ mz | G® | nsD | ngh | 0| oV | sg?
Form | kW e | BC 32 | 50 [ 65 | 32 | 50 | 65
22 215 100L - - - - - - - - - - - - -
313
3 215 100L - - 302 - - - - - - - - - - -
4 215 112M - - - - - - - - - - - - 334 -
5.5 265 1328 - - - 192 - - - - - - - -
322 | 329 374
75 265 1328 - - - - - - - - - - -
Vi1 11 300 160M - - - - - - - - -
352
15 300 160M - - - - - - - - 478 -
359 210
18.5 300 160L - - - - - - - - - - -
381 245
22 300 180M - - - - - - - - - - 602 -
30 350 200L - - - - - - - - - - -
362 660
37 350 200L - - - - - - - - - - -
45 400 225M | 140 19 - - 384 - - 225 | 149 [ 286 | 361 | 356 | 428 | 240 | 667 | 24
B35 55 500 250M | 50 | 24 - - - - 280 | 168 | 349 | 409 | 406 | 506 | 240 | 790 | 72
414
78 500 280S | 50 | 24 - - - - 280 | 190 | 368 | 479 | 457 | 557 | 240 | 865 | 42
1) informationshalber / for information only! / A titre indicatif / para informacion / per informazione / ter informatie

19



KSB b‘ Multitec / Multitec-RO

Multitec V

Vv !],Z

VA
ul
m
-+
VA
A h2 h?2
=
Ll ]
" AN
2 / \Z
4 S
: E E
= & &
L dk
mé
089
mS
bh11
IP55 P23
M\T/C 50/60 Hz hs 50/60 Hz ha
2-pole 4-pole 2-pole 4-pole 2-pole 4-pole 2-pole 4-pole
kW |q|hs|ds |ds | | |d3 |ds| | |32 |50 |65 |100 125|150 |32 |50 (65 [100 (125|150 |d3 |ds | | |d3 |ds | | |32 |50 |65 100125 |32 |50 |65 [100 [125 [150
2,2 - |- - |250 |28 |60 |302(309 (331 | - - - (302|309 (331 | - - - - |-~ - - - - - - - - - - - - - -
3,0 250 (28 | 60 (250 |28 | 60 |302(309 331 | - - - (302|309 (331 | - - - - |-~ - - - - - - - - - - - - - -
4,0 250 (28 | 60 (250 |28 | 60 |302(309 331 | - - - (302|309 (331 | - - - - |-~ - - - - - - - - - - - - - -
55 300 |38 | 80 [300 |38 |80 |322|329 (351 | - - - 1322|329 |351 | - - - - |1=-1- - - - - | - - - - - | - - - - -
75 300 |38 | 80 [300 |38 |80 |322|329 (351 | - - - 1322|329 |351 | - - - - |1=-1- - - - - | - - - - - | - - - - -
11,0 350 |42 |110 [350 |42 110 |352 359 |381 |585 |601 | - |352|359 381 |585 (601 | - |400 |48 |110 |400 | 48 |110 (355|362 [381 585 |601 [355|362 |381 |585 |601 | -
15,0 350 |42 |110 [350 |42 110 |352 359 |381 |585 |601 | - |352(359 381 |585 (601 | - |400 |48 |110 |400 | 48 |110 (355|362 [381 (585 |601 [355|362 |381 |585 |601 | -
18,5 350 |42 |110 [350 |48 110 |352 359 |381 |585 |601 | - |352(359 381 |585 (601 | - |400 |48 |110 |400 | 48 |110 (355|362 (381 585 |601 [355|362 |381 |585 |601 | -
22,0 350 |48 |110 [350 |48 110 |352 359 |381 |585 |601 | - |352|359 381 |585 (601 | - |400 |48 |110 |400 | 55 |110 (355|362 (381 (585 |601 [355|362 |381 |585 |601 | -
30,0 |1) |1) |400|55 |110 |400 |55 110 |355 362|381 |585 |601 | - [355|362 |381 |585 (601 | - |400 |55 |110 |400 | 55 |110 (355|362 |381 585 |601 355|362 |414 |585 |601 | -
37,0 400 |55 |110 |450 |60 (140 |355 (362|381 |585 |601 | - |385(392 414 |615|631 | - |400 |55 |110 |450 | 60 |110 (355|362 (381 (585 |601 [385|392 |414 |615 |631 | -
45,0 450 |55 |110 |450 |60 (140 |355 (362|384 (615|631 | - |385(392 414 |615|631 | - |450 |60 |140 |450 | 60 140 (385|392 (414 (615|631 [385|392 |414 |615 |631 | -
55,0 550 | 60 |140 |550 |65 (140 | - (392|414 617 |633 | - - |392 |414 |617 633 |740 |450 |60 (140|550 | 65 (140 | - |392 (414 |615 (631 | - |422|414 |617 633 |740
75,0 550 |65 |140 |550 |75 (140 | - |392|414 617 |633 | - - |392 |414 |617 |633 |740 |550 | 60 (140|660 | 75 {140 | - |422 (414|617 |633 | - - |444 (647 |663 |770
90,0 550 |65 |140 |550 |75 (140 | - |392|414 617 |633 | - - |392 |414 |617 |633 |740 |660 |65 140 660 | 75 {140 | - - |444 647 663 | - - |444 647 |663 |770
110,0 660 |65 (140 (660 |80 (170 | - - |444 |647 |663 | - - - |444 (647|663 770 |660 |65 [140 (660 |80 (170 | - - |444 647 663 | - - |444|647 |663 |770
132,0 660 |65 (140 (660 |80 (170 | - - |444 |647 |663 | - - - |444 (647|663 770 [660 |65 [140 (660 |80 (170 | - - |444 647 663 | - - |444|647 |663 |770
160,0 660 |65 (140 (660 |80 (170 | - - - |647 663 | - - - - |6471663 (770 - | - | - - - - - - - - - - - - - - -
200,0 660 |70 (140 (660 |90 (170 | - - - - - - - - - - - 770 - | - | - - - - - - - - - - - - - - -
1) vom Fabrikat abhéngig depends on motor brand en fonction de la marque di pendente dal costruttore  afhankelijk van hec fabrikaat depiende de la impresa costrutora
Anschliisse / Connections / Raccords / Attacchi / Aansluitingen / Conexiones
G =1S0 228/1 Multitec V
Rp =1SO 7/1
P 32 50 65 100 125 150
1M.1 G 15 15 15 15 A A
1M.2 G s 15 A A 2 '
6B.3 G g A A o s !
8B Rp 3/g 3/g 3/g 3/g S/g S/g

20



ksB L.

Multitec / Multitec-RO

mm

MultitecV 1) DN1 DN2 b11 d4 d7 e g h2 h4 mg Mg S t1 t3 uq
32 2 50 32 | 490 | 18 | 30 | 121 M16x250 MU | 175 | 129 | 345 | 266 | 20 | 250 | 33 8
3 50 32 | 490 | 18 | 30 | 176 | M16x250 MU | 175 | 129 | 345 | 266 | 20 | 250 | 33 8

4 50 32 | 490 | 18 | 30 | 231 M16x250 MU | 175 | 129 | 345 | 266 | 20 | 250 | 33 8

5 50 32 | 490 | 18 | 30 | 286 | M16x250 MU | 175 | 129 | 345 | 266 | 20 | 250 | 33 8

6 50 32 | 490 | 18 | 30 | 341 M16x250 MU | 175 | 129 | 345 | 266 | 20 | 250 | 33 8

7 50 32 | 490 | 18 | 30 | 396 | M16x250 MU | 175 | 129 | 345 | 266 | 20 | 250 | 33 8

8 50 32 | 490 | 18 | 30 | 451 M16x250 MU | 175 | 129 | 345 | 266 | 20 | 250 | 33 8

9 50 32 | 490 | 18 | 30 | 506 | M16x250 MU | 175 | 129 | 345 | 266 | 20 | 250 | 33 8

10 50 32 | 490 | 18 | 30 | 561 M16x250 MU | 175 | 129 | 345 | 266 | 20 | 250 | 33 8

11 50 32 | 490 | 18 | 30 | 616 | M16x250 MU | 175 | 129 | 345 | 266 | 20 | 250 | 33 8

12 50 32 | 490 | 18 | 30 | 671 M16x250 MU | 175 | 129 | 345 | 266 | 20 | 250 | 33 8

13 50 32 | 490 | 18 | 30 | 726 | M16x250 MU | 175 | 129 | 345 | 266 | 20 | 250 | 33 8

14 50 32 | 490 | 18 | 30 | 781 M16x250 MU | 175 | 129 | 345 | 266 | 20 | 320 | 33 8

50 2 80 50 | 490 | 18 | 30 | 151 M16x320 MU | 200 | 136 | 345 | 266 | 20 | 320 | 33 8
3 80 50 | 490 | 18 |30 | 213 | M16x320 MU | 200 [ 136 | 345 | 266 | 20 | 320 | 33 8

4 80 50 | 490 | 18 | 30 | 275 | M16x320 MU | 200 | 136 | 345 | 266 | 20 | 320 | 33 8

5 80 50 | 490 | 18 | 30 | 337 | M16x320 MU | 200 [ 136 | 345 | 266 | 20 | 320 | 33 8

6 80 50 | 490 | 18 | 30 | 399 | M16x320 MU | 200 [ 136 | 345 | 266 | 20 | 320 | 33 8

7 80 50 | 490 | 18 | 30 | 461 M16x320 MU | 200 | 136 | 345 | 266 | 20 | 320 | 33 8

8 80 50 | 490 | 18 | 30 | 523 | M16x320 MU | 200 [ 136 | 345 | 266 | 20 | 320 | 33 8

9 80 50 | 490 | 18 | 30 | 585 | M16x320 MU | 200 [ 136 | 345 | 266 | 20 | 320 | 33 8

10 80 50 | 490 | 18 | 30 | 647 | M16x320 MU | 200 | 136 | 345 | 266 | 20 | 320 | 33 8

11 80 50 | 490 |18 |30 | 709 | M16x320 MU | 200 [ 136 | 345 | 266 | 20 | 320 | 33 8

12 80 50 | 490 | 18 | 30 | 771 M16x320 MU | 200 | 136 | 345 | 266 | 20 | 320 | 33 8

13 80 50 | 490 | 18 | 30 | 833 | M16x320 MU | 200 [ 136 | 345 | 266 | 20 | 320 | 33 8

14 80 50 | 490 | 18 | 30 | 895 | M16x320 MU | 200 [ 136 | 345 | 266 | 20 | 320 | 33 8

15 80 50 | 490 | 18 | 30 | 957 | M16x320 MU | 200 | 136 | 345 | 266 | 20 | 320 | 33 8

65 2 100 | 65 | 540 | 18 | 35 | 189 | M16x320 MU | 225 | 170 | 400 | 304 | 22 | 320 | 38 | 10
3 100 | 65 | 540 | 18 | 35 | 268 | M16x320 MU | 225 | 170 | 400 | 304 | 22 | 320 | 38 | 10

4 100 | 65 | 540 | 18 | 35 | 347 | M16x320 MU | 225 | 170 | 400 | 304 | 22 | 320 | 38 | 10

5 100 | 65 | 540 | 18 | 35 | 426 | M16x320 MU | 225 | 170 | 400 | 304 | 22 | 320 | 38 | 10

6 100 | 65 | 540 | 18 | 35 | 505 | M16x320 MU | 225 | 170 | 400 | 304 | 22 | 320 | 38 | 10

7 100 | 65 | 540 | 18 | 35 | 584 | M16x320 MU | 225 | 170 | 400 | 304 | 22 | 320 | 38 | 10

8 100 | 65 | 540 | 18 | 35 | 663 | M16x320 MU | 225 | 170 | 400 | 304 | 22 | 320 | 38 | 10

9 100 | 65 | 540 | 18 | 35 | 742 | M16x320 MU | 225 | 170 | 400 | 304 | 22 | 320 | 38 | 10

10 100 | 65 | 540 | 18 | 35 | 821 M16x320 MU | 225 | 170 | 400 | 304 | 22 | 320 | 38 | 10

11 100 | 65 | 540 | 18 | 35 | 900 | M16x320 MU | 225 | 170 | 400 | 304 | 22 | 320 | 38 | 10

100 2 125 | 100 | 690 | 33 | 40 | 233 | M30x400 MU | 275 | 212 | 545 | 405 | 30 | 400 | 43 | 12
3 125 | 100 | 690 | 33 | 40 | 323 | M30x400 MU | 275 | 212 | 545 | 405 | 30 | 400 | 43 | 12

4 125 | 100 | 690 | 33 | 40 | 413 | M30x400 MU | 275 | 212 | 545 | 405 | 30 | 400 | 43 | 12

5 125 | 100 | 690 | 33 | 40 | 508 | M30x400 MU | 275 | 212 | 545 | 405 | 30 | 400 | 43 | 12

6 125 | 100 | 690 | 33 | 40 | 593 | M30x400 MU | 275 | 212 | 545 | 405 | 30 | 400 | 43 | 12

7 125 | 100 | 690 | 33 | 40 | 683 | M30x400 MU | 275 | 212 | 545 | 405 | 30 | 400 | 43 | 12

8 125 | 100 | 690 | 33 | 40 | 773 | M30x400 MU | 275 | 212 | 545 | 405 | 30 | 400 | 43 | 12

9 125 | 100 | 690 | 33 | 40 | 863 | M30x400 MU | 275 | 212 | 545 | 405 | 30 | 400 | 43 | 12

10 125 | 100 | 690 | 33 | 40 | 953 | M30x400 MU | 275 | 212 | 545 | 405 | 30 | 400 | 43 | 12

11 125 | 100 | 690 | 33 | 40 |1043 | M30x400 MU | 275 | 212 | 545 | 405 | 30 | 400 | 43 | 12

125 2 150 | 125 | 690 | 33 | 50 | 292 | M30x400 MU | 325 | 227 | 545 | 405 | 30 | 400 |53,5| 14
3 150 | 125 | 690 | 33 | 50 | 404 | M30x400 MU | 325 | 227 | 545 | 405 | 30 | 400 |53,5| 14

4 150 | 125 | 690 | 33 | 50 | 516 | M30x400 MU | 325 | 227 | 545 | 405 | 30 | 400 |53,5| 14

5 150 | 125 | 690 | 33 | 50 | 628 | M30x400 MU | 325 | 227 | 545 | 405 | 30 | 400 |535 | 14

6 150 | 125 | 690 | 33 | 50 | 740 | M30x400 MU | 325 | 227 | 545 | 405 | 30 | 400 |53,5| 14

7 150 | 125 | 690 | 33 | 50 | 852 | M30x400 MU | 325 | 227 | 545 | 405 | 30 | 400 |53,5| 14

8 150 | 125 | 690 | 33 | 50 | 964 | M30x400 MU | 325 | 227 | 545 | 405 | 30 | 400 |53,5| 14

150 2 200 | 150 | 750 | 33 | 60 | 338 | M30x400 MU | 400 | 250 | 600 | 430 | 30 | 400 | 64 | 18
3 200 | 150 | 750 | 33 | 60 | 470 | M30x400 MU | 400 | 250 | 600 | 430 | 30 | 400 | 64 | 18

4 200 | 150 | 750 | 33 | 60 | 602 | M30x400 MU | 400 | 250 | 600 | 430 | 30 | 400 | 64 | 18

5 200 | 150 | 750 | 33 | 60 | 734 | M30x400 MU | 400 | 250 | 600 | 430 | 30 | 400 | 64 | 18

6 200 | 150 | 750 | 33 | 60 | 866 | M30x400 MU | 400 | 250 | 600 | 430 | 30 | 400 | 64 | 18

1) Stufenzahl

Number of stages

Nombre d’étages

Numero degli stadi

Aantal trappen

N° de etapas

21




KSB b‘ Multitec / Multitec-RO

22



ksB L.

Multitec / Multitec-RO

23



Multitec / Multitec-RO

ksB .

Ursan Pompa Armatiir ve Endiistriyel Uriinler San. Tic. Ltd. Sti.
Gizeller Mah. Bagdat Cad. No: 601/A 41400 Gebze / KOCAELI
Tel: (0.262) 642 05 60 - 641 84 15 - 641 82 60 Fax: (0.262) 642 39 79
e-mail: kocaeli@ksb.com.tr - ursan@ursanpompa.com
WWW.ursanpompa.com

Subject to technical modification without prior notice.

01.12.2010

1777.5/8-10


KULLANICI
Text Box
Ursan Pompa Armatür ve Endüstriyel Ürünler San. Tic. Ltd. Sti.
Güzeller Mah. Bagdat Cad. No: 601/A 41400  Gebze / KOCAELI
Tel: (0.262) 642 05 60 - 641 84 15 - 641 82 60  Fax: (0.262) 642 39 79
 e-mail: kocaeli@ksb.com.tr  -  ursan@ursanpompa.com
                                                  www.ursanpompa.com




